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'C-ivan that x > 0, show that

log " =nlog x. [3]
Solve the equation
log,(3x +4) ~ log x = 310z, . [41
Solve the equation
Adrs2 =7
giving your answer comrect to tliree decimal places. [3]
June 2008
Giventharx >0, v> 0, show that
log ry=log x+log » [31
Sclve the equation
logyr=—L 23
=0 5 [‘J}
Solve the equation
log,(dx+7) =1lpg x + Zlog, 3. [4]
Jan 2008
Given that £ > 0, >0, show thar
'l‘ b - .
logai; = IOga A— loga ¥ [3]
Solve the equation
e )
Show your working and ive Four answer correct to three decimal places. B [3]
Solve the equaiion
' 4
log.(x~3)+log, (x+ 3)= 2Iog_(x - 2). 4]
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